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The manager of the bank informs Raju that ¥ 100 deposited in the
bank one year before has now become ¥ 110.

When someone deposits money in a bank, the bank

“Thank you’.
pays some extra money on the deposited amount.

But how did
my T 100
become
T 110 after
one year?
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 Worksheet 1

1. Fill in the blanks.
. .-__.__.____._—-—'—'—__—__
ank is called

ank is galediSaemt——
is called

(a) The money deposited in a b

(b) The extra money paid by the b
y is kept in a bank

(c) The period of time for which mone
. B

(d) The money borrowed from a bank is called
every hundred rupees depq;;

(e) Extra money charged by the bank for
called

SIMPLE INTEREST

Factors determining simple interest
The simple interest we calculate depends on three factors—
(a) Principal

(b) Rate of Interest

(c) Time

Calculating simple interest
Let us study these examples.
Example 1:  Calculate the simple interest on ¥ 500 at 15% interest per year

Solution: Simple interest on T 100 for one year =3 15

15% = > means ’\'”15 'n_ e

L RS et
Simple interest on ¥ 1 for one year = _1_5_
100
Simple interest on ¥ 500 for one year= 19 —2 1 500
100

=X75

So, the interest at the end of one Year will be 7 75
: e .
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Calculate the
€ simple |
Per year. Nterest on 2 500 for two years at 15% interest

r, the simple interest js =z 19 500 =X 75
100

So, for
Wo years. the simple interest will

be
7 i
',I-EEX500><2 = 3150
Rate of Interest Principal Time

Mr Sunil deposited Z 800 in a bank at 4%% rate of interest per

annum. Calculate the simple interest he will get after 2% years.

Principal = ¥ 800

Rate of Interest = 4%% per annum

_g_% per annum

per annum

1

2x100

1
2. years
ZYBa

Time
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Worksheet 2

i llowing:
1. Find the simple interest at the end of one year for the fo 9

(@) Y400 at 5% interest per annum.

(b) ¥ 1,800 at 12% interest per annum.

(c) ¥ 2,500 at 4%% interest per annum

(d) 3,200 at 6%% interest per annum.

2. Complete the table by calculating the simple interest.

Principal .|  Rate of Interest Time Simple Interest
(@ T600 7% 2 years
(b) T 500 a%ﬂ 2 years
(c) T 3,000 12% 31 years
2
(d) T 2500 ?1% 21 years
| 2 2

3. Solve the following questions.

(a) A man deposited ¥ 4,500 in a bank which Paid him an interest
annum. How much simple interest will he get at the end of five
(b) Rahul borrowed ¥ 650 from Sohan at 8%

of 11% per
years?

| Interest per annum. Find the
simple interest Rahul has to pay Sohan after 4—1— years

(¢) Ramlal borrowed Z 3,000 from Arun to purchase a tractor. Arun charged him

an interest of 451

% per ann ‘ i
o P um. How much Simple interest will Ramlal pay

to Arun after three years?

162




_:j_cEPT OF AMOUNT
et us study some eXamples
ample 4:  Rahy ha :
S . d deposi .

| Interest ed 100 in a bank for two years at 10% simple

Per anny
from the bank? . H?W much money will he get after two years

-

Here, Principal = Z 100

Rate of Interest = 10% or 0 per annum
4 100

Time = 2 years
First, we will find the Simple Interest.

Simple Interest = 100 x G x 2
100

=320

Amount Rahul will get after two years
= 3100 +T 20
=3 120

, that the amount we get back after a certain period of time is the sum of

' k at 8% interest per annum. What
- ited Z 3,000 in a ban
Sarita deposite

iample 5:
amount will she get

back after 3% years?

= ¥ 3,000

ey
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Here, Principal



BD/D 100

Time = 1:’52 years = § YRR

Rate of Interest

7
Simple Interest = 3,000 x 2557 AL

T 840
Amount received at the end of 3 5 years

= Principal *+ Interest

= % 3,000 + T 840

= ¥ 3,840
WﬂrkSheet:j«’ b *‘i

1. Find the amount for the following:

Principal Interest Amount
(@) % 1,500 2150,
(b) Z 750 235
() % 15,000 % 980
(d) T 4,500 Z 215 3

2. Fill in the blanks:

Principal | Simple Interest’ | Amount
(a) Z 800 ¢ 9b5
o % 75.50 % 450
(c) % 25,000 e
() ] Yais : ?zzzo




(b) T750at 31
_, 3 5 % per annum for 2 years.

(€) 3,200 at 7 1

—

0
> /% Per annum for 3-;_ years.
(d) T9 |
(d) 00 at 5% per annum for 5.1 years.

. Solve the following questions.

(a) Arun took a loan of 600 for 1—;- years with interest at the rate of 4% per
annum. Find the interest he pays after 1% years. Also calculate the amount
he pays back after 1% years.

Amit deposited T 4,800 in his account. The bank pays an interest of 6% per
annum. What amount will Amit get back after three years?

A man borrowed ¥ 700 from his friend. He promised to return back the
amount after six months at an interest of 8% per annum. How much money
will he pay back after six months?

Surender deposited T 2,500 in a bank at 12% interest per annum. He

withdraws his money after 2% years. Out of this amount, he buys an almirah

for Z 3,000. How much money is left with him?

Nakul's father Mr Gupta got transferred from Delhi to Mumbai. Mr Gupta had
.,J-aeposited Z 55,000 in the Punjab National Bank two years before at 8% per annum.
:;Q-Ha closed the account and with the intere‘st money he purchased gifts for his friends
aand family members. Nakul also got two jeans, two shirts and a video game as gift.

e
_A



: _ :aan and one shirt to Ran |
Nakul with the permission of his parents gifted one &2  the

akul for the gift.
son of milkman. Rahul was very happy and thanked N

1. How much money did Mr Gupta get from the bank?
2. How much money was spent by Mr Gupta on gifts?

3. How do you feel when you gift/donate anything to the needy?

Brain Teasers

1. Tick (v/) the correct answer.

(a) The extra money paid by a bank for every ¥ 100 after one year is called—

(i) Interest (ii) Rate of interest
(iii) Amount (iv) Principal
(b) Mr Gupta borrowed X 1,75,000 from a bank to buy a car, This amount
called—
(i) Interest

(i) Rate of interest

(iii) Loan (iv) Time




(c) Simple interest for ¥ 1,000 at 10%
(i) 75 O

for 9 months is—
(d) If Amount = 1 45 SJ) : ?00 (i) T 90 (iv) T 1,075
; '049.90, Simple interest = ¥ 95, Principal is—
WX 1.740.50" " i) 271,650 (i) T 1,740 (iv) % 1,550.50

e) If loan =
(e) . ?.1.?5,000. Rate of interest = 4%, Time = 2 years, then amount 0
be repaid is equal to—

() 189,000 ()% 176,400 ()% 1,98,000 (iv) ¥ 1,80,000

. Name the three factors that determine simple interest.

3. Find the amount if principal is Z 625 and interest is ¥ 55.

. Calculate the simple interest on ¥ 1,200 at 31% interest per annum for
six months. 2

5. Sohan deposited T 6,000 in a bank at ?%% per annum for three years.
Mohan deposited ¥ 6,000 in another bank at 11% per annum for 2% years.

Who will get more simple interest?
ed T 2,400 at 12% interest per annum. At the end of

6. A farmer borrow
paid ¥ 1,200 and a cow for the balance amount. Find the

three years, he re

cost of the cow.
7. Mr Kannan had deposited T 2,500 in a bank at 12% per annum. After

31 years, he withdraws this amount. Out of this money, he wants to buy
2

'assing table costing T 4,000. How much more money does he need?
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